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ma Assignment e—

Complete page 459
Questions 1, 3,4,5,6, 7
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m Solutions -—,seeee———

Yy

1. The graph for a system of equations

1S Shown. I which guadrant(G) 1S
there a solution +o the system?

T ®w/1x 1 exte ﬁded) +This line
' / ond po'rQbQEQ will CHSC_)
) N intersect in Quadrant L.

=

£ VMw  BESTSUWTION: O
Ly T- and I only.

3. Tables of values are shown for two
Jdifferent quadratic functions. What
conclusion can you make about the
related system of equations?

axclasd caadain SOLUTTITON: B

6 '%. -6 - e
(; =) €z | =3) L 1t hos at least
= 3 2 +wo reol solutions.

= G =

5 6 5 -6
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M. What s +he solution +o +he fol &owu‘m
SV Stem of equcﬁ*xons )

V= (x+2)*-2, @
\f:- _L_QX“'%"Q)Q@
J 2.
@ \f:LXJrQ\}“*l Sub.in@)
® V= Lx+2)?
2
(x+2)*-2, = “2% (x+2)*
(X2 )X x+2)-2= 1L (x+2)(x+2)
2
'XQ‘-E*Q_"X“’«-Q')(—E‘M“ZF‘% (x24 2% +2x+4 )
AN 2= ) (M +Y)

2

X2+ 44X +2)= X 24 M+

OxX*+ X+ 4 = 'x +Mx+u

N'G 'X“HS%-U’;HU =0
X+ Mx =
%:zﬁr’v‘—-w
(X=0)or X+4=0

@P:i\tr :

SOLUTION:S D
Ly W=-4 and X=0.
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m Solutions -—,seeee———

Yy

5. (onnor used the substition method
tTd Solve 4he system
OM-2n= 2§ ”
GM*-Mm +n=10

Below is (onnor's solutionfor m.
N Which line did he make
aon error ?

E o
Connor's Selutron:
N ——

Sclve +he Second equation for n s
N= 10-83m2>+ m line 4.
Substitute into +he frst equation:
Sm-2C10-8m2 +m) =25 line 2,

SM-20+6m2*-2m = O5

eMm*+3AM-45=0 hine3
/ M +M-=-15=0
C2m+5)(m-3)=0 line Y

M=39.5 or M=-3

Ly line M {ShOu ld be (Qr\\—s)(m—\-}.}}
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. A student determines +hat one
Solution +o a system of

guadratic = c&mdrg—‘rac equaTons
ié“ C2,4). What is +he value of n
= “H\f: cecbuc:ﬁons or e

Yx*—my =10
mXx*+ny= 20

= 4@Y-m@)=10 = m(2)+n(L)=20

NCM)-Amn= 10 M)+ An=20
lo-Am=10 4 +An=20
1—10=dAm MB) +An=20
=4 O +4Nn =20
e=™ 1 dn= 20-21
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Solutions ————

T Solve Q"lgebro{cdl ly

a) x> +3y=-3-x ® ¥ Elimination
X=X = -4-2y®
5X*+X +3y+3=00
A=K +2LY+N=0@)
MuH—ipiyxZ and @ x3

1OX2+ 22X+ b6V +6=0
o X*— 3% +—6\:,/H2,~‘:-C

O-0 _ : |
Ndx2+5X-6=0 {-J_;eu_;-n-m position OfF i\\.‘-uuc:j.i“c-rm.}
a=4,b=3,Cc=-G

X=-pE N bl—“}a?‘:
1 W
= -5 INEY-HHCE)
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m  Solutions

(]

When X=3 .
&\_ﬂ
® 5%* +3y=-3-%
FAVy+3y=-3-3_
ok / ¢ 'y |

* SOAMTTIONS ¢ (3 ,-35) and (-2,-).
.L.\' ﬁ\_ﬂ I J.;'I

\N hf‘, A X=- 24 Z

® 5%*+3y=-3-X
5c2)Y4+3y=-37(2)
SCM)+3y=-3+2

5/a)+3y==3-3 Qo+3vy= -]
NIy RN 3y =-1-20
NS +3y= MR 1D QN =20
16 : A 3’ 3
Sy = =ME —| 0—A§ y="1
' e 16 |16 g
Jy= —|OF
gﬁ I,
Ny = -10D
N%EL T
| — = f)‘

N
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m Solutions -—,seeee———

b) v="Tx=-110®
5\;5{’- -3x-V=6 @

© y="Tx-1l Sub.in®

C, SR = N =
S"X == (,W. 1)=6
-AX—IX+ll=6
x -—‘C,x+1“~Q:=C _
| SX £ O =0 { Decomposition or Quad. :r"drm}
S»X "5—}&,’»57& 3‘”‘5/\ =0 w5 = LY
bxbc 1)-5 (x| S +:5.=-10

’X—"“—"-Q or 5x- 52‘@
=1 Subin®
| Soluthon
-1
\?j— 7U)-V
\j' = 11|

\,j:"(‘f

% Solution: (1,~4)
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